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Industrial Relations and The Law

Paper - PGDLL-01
Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper has been divided into three sections A, B
and C. Write Answers as per given instructions.

fder: g weux ‘a1, ‘' &R ‘W i wusl # fwifia g1 v
Gug &b MGATTAR Ul T IR QISIT|

Section - A 10 X2=20

(Very Short Answer Type Questions)
Note: Answer all questions. As per the nature of the question
delimit your answer in one word or one sentence or
maximum upto 30 words. Each question carries 2 marks.

Qus - ‘37’
(fT T, TR arel wed)
fAder: Tt meAl & IR QRTWI FOATIAR 310 ST Pl U &g AT
Iy, a1 Afpad 30 &gl ° uRAfiT Hifviv| e g 2
3P BT 2
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1) (i) Appropriate Government —

HHferd PR |

(i) Registrar — TSt eh
(iii) Labour Court — HH =gt
(iv) Conciliation officer — AT STy |

(v) Collective Bargaining — T EASICSIN

(vi) Name of any one trade union of India.
IRA H f5ft v 59 9 &1 7

(vii) Appropriate wages — S ICRE]
(viii) Retrechment — B!

(ix) Name of any one Public sector undertaking.

A &7 & fosdl v Sushd BT A |
(x) Standing orders — TR 3T

Section - B 4 X10=40
(Short Answer Type Questions)

Note: Answer any four questions. Each answer should not
exceed 200 words. Each Question carries 10 marks.
(Tvs - 9)
(oTg IR 99 )
fAder: gl IR Ul & SR IR TS ITR DI B 200
&gl § URAAT HITT| Tie T 10 31d @ |

2) Explain Industrial Relations.

eI Aea=ei Bl Tase HIRU|
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Explain Lay off.
HHEG! DT TS
Explain Lockout.

NIGICEARCIRSEEIRY

What do you mean by registered trade unions?

Uofid ST el A 3T T FHE § ?

Origin of trade unions in USA.

MR T $1 Hecl 6 S|

Various immunities of trade unions.
AR e AR Sgfeaa
Distinguish between strike and lockout.

gedial 3R dlefle—<! H 3 HIfT|

Distinguish between lay off and Retrenchment.

ATTEwa! Ug Berl § 3N HIfoTu|
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Section-C 2X20=40
(Long Answer Type Questions)

Note: Answer any two questions. Each question should not
exceed 500 words. Each question carries 20 marks.

(Tvs - W)
(Sref STRaTer e )

fader : fopegt < Ul & IR SINUI J9T & IR I IAfehad 500
gegl o IR Hif U U9T 20 37w a1 Bl

10) Discuss the origin and development of trade unionism in
Britain, America and Russia.
foes, smRe td ©9 | 39 Hearg & il vg fdess &
faamT T

11) “Recognition of trade unions is beneficial for both the parties.”
Discuss this statement.

s el hI T T gel & fv fRaex 817 39 BYT &
fadeT FHifvTe|

12) “Liberalization and globalization has weakened the trade
unions”. Comment.

"'ISRIBRUT TG J9FRRUT = S el hl pHeIR fopar g1’ feoquft
forRau|

13) Write short note on structure and objective of Central Trade
Union Organisations.
DfrgT S g oA HI TR Ud S W Udh fared o g
ferRau)
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